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QUESTION BOOKLET
This question paper contains 170 questions. /SH I A H 170 TH 7 |
All questions are compulsory. / Tt I3 31f4ar & |
One question carries half mark only. / T I3 & ToTU shaet 9T 376 2 |

Maximum Marks : 85 JAThay 37 : 85
Time : 2 Hours Uy : 2 "o
1.  Which of the following has maximum genetic diversity in India ?

(A) Tea (B) Wheat ~(C) Teak (D) Mango

e & fopmreh! Sifeh Afaesran Wi o 9ed i & 2

(A) == (B) T§ (C) ®FIA (D) 3™

2. Which of the following is an edible fungi ?
(A) Rhizopus (B) Agaricus (C) Penicillium (D) Mucor
=1 4 9 o o T @TE %G 7 ?
(A) TESITE (B) TWHisg (C) uRfdfersm (D) =

3.  Which of the following are intracellular obligate parasites ?
(A) Viruses  (B) Bacteria (C) Slime moulds (D) Blue green algae
=1 5 9 %9 | 37a-wheiehl TfaT Wi § 2

(A) o (B) SfaTY] (C) 3auh®he (D) Fa-gha e
4.  ‘Club moss’ belongs to

(A) Algae (B) Pteridophyta (C) Fungi (D) Bryophyta
FAS HE B
(A) e (B) e (C) wha (D) SR
5.  Male gamete in angiosperm is produced by
(A) Generative cell (B) Microspore cell
(C) Vegetative cell . (D) Tube cell
STt 1 R geh i 2 &
(A) S SHIfTEHT I (B) TTHSISITY] hIf3TehT G
(C) aEIfcreh SHITRTeRT gRI (D) Tet =hIfSTehT gRT
6.  External fertilization occurs in majority of
(A) Algae (B) Fungi (C) Liverworts (D) Mosses
e A ECRICIRRER SRR IR E

ISR EIGR:] (B) ®%eH (C) feradd (D) Wi d

7.  An algae which is rich in protein is
(A) Ulothrix (B) Spirogyra  (C) Nostoc (D) Chlorella
Teh S1aTet STEH S A1 ° W 9T S |

(A) JAI  (B) WRAAMMRET (C) AT (D) FeAiea
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8.  Which of the following are likely to be present in deep sea water ?
(A) Eubacteria (B) Blue green algae
C) Saprophytic fungi (D) Archaebacteria
[ 1 AT Jlslaga‘NFﬁﬁtrquGnﬁT/W% ?

(A) FoFIT@  (B) Fia-gha A (C) Fasie! Bhe (D) 3T Sar]

9. Dry indehiscent single-seeded fruit formed from bicarpellary syncarpous
inferior ovary is

%A) Berry (B) Cremocarp ©) Caryops1s (D) Cy sella
et AL HSRI g WIHCI e 31('3)6'13“(4 k°h®|l\71| ‘e

(A) =@ (B) T (C) ®wEI@™ (D) ﬂr@w
10. Smallest flower is

(A) Wolffia (B) Lotus (C) Rafflesia (D) Brassica

T Bl &

(A) aifewan (B) ®ud (C) TwiAfem (D) SiTf&eht
11. Intercalary meristem leads in

(A) Secondary growth (B) Primary growth

(C) Apical growth (D) Secondary thickening

Sty fasi e 012

(A) e afg  (B) mefimealg (C) MW afg (D) Tgctres T

12. Pear fruits are gritty due to the presence of
A) Sclerids (B) Fibres (C) Vessels (D) Tracheids
Sufefe o RO TIAT Tt 87

(A) TRIiEd (B) BRI (dq) (C) Afetshrd (D) g% (anfafepr)

13.  Which of the following amino acids is not optically active ?
%r:)’ Leucine (B) Isoleucine (C) Valme (D) Glycine
T g i 91 U] TS Tehreiid 9ishd a1 gid1 g 2

(A) <o (B) HABEHREA (C) dfer (D) TR

14. B-oxidation of fatty acids occur in
(A) Peroxisomes (B) Mitochondria (C) Microsomes (D) Glyoxisomes
1 - BIA1 R :
(A) Wieedw (B) wsehigan (C) #@sshid™ (D) TgSATESIH

15. Site of gluconeogenesis is
(A) Glgomsomes (B) G01g1 bodies (C) Mitochondria (D) None of these

(A) ARSI (B) it (C) wIsershifogan (D) $H  hig el
16. Starch is a polymer of

(A) Maltose (B) Sucrose (C) Fructose (D) None of these

g (W) Th TIaH 3 : ’

(A) eI ®H (B) GhS R (C) WRNH (D) THH HE A&
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17.

18.

19.

20.

21.

22.

23.

24.

25.

Crossing over occurs during
(A) Diplotene  (B) Pachytene (C) Zygotene (D) None of these
Tt g 2

(A) Tgug stz s R (B) TYFIUE T h S
(C) IHUg FHeTEAT o AH (D) 3 & i3 T
When a plant undergoes senescence, the nutrients may be

(A) Exported (B) Wlthdrawn C) Translocated (D) None of these
IS UTeq SUIdT shl 3T §@d &, JI¥ehave & ehd & :

(A) Fra (B) smEi@  (C) MR (D) FH A BEE

Water in the soil available to plants is

(A) Hygroscopic water (B) Gravitational water
(C) Capillary water (D) None of these
i (F&T) H 9Tyl ol I I 3 -

(A) AT (B) TEcETHN I (C) BRI SA (D) IH H IS A&

The deficiency of which micro-nutrient results in little leaf disease ?
%r:)’ Iron (B) Boron (C) Zinc (D) Copper
H ¥ for Qe -aryehacd shi HHl o HRUT T —TF SHR] ?
(A) I (B) SR (C) = (D) W
Which of the following is not an essential element for plants ?
%n:)’ Aluminium (B) Cop\per (C) Iron (D) Zinc
T Y hI 9T Teh UTeUl b [T AT d<d gl & ? .
(A) TgHEE  (B) HIW (C) 3 (D) 5
Light reaction of photosynthesis occurs inside
(A) Stroma (B) Grana
(C) Endoplasmic reticulum (D) Cytoplasm
eI~ TN sh b1 Sfctfshat feptreh wiiat Biel %
(A) gt (=wmn) (B) I (C) 3idgedt sttt (D) =HIfTHT-ge

In higher plants, the shape of the chloroplasts is
(A) Discoid N (B) Cup shap\ed (C) Girdle shaped (D) Reticulate
3 YTl §, FARITIR <1 3AThR BIdT & ¢

(A) =fshepTy (B) YHIHR (C) TREATHR (D) STefigr

In cellular respiration, the final acceptor molecule of proton is

(A) NAD _ (B) NADP (C) FAD (D) Oxygen
YIEH B, I o HAfqd T A & -
(A) NAD (B) NADP (C) FAD (D) 3l

In aerobic respiration, total number of ATP molecules formed from 1 glucose

molecule is
Ty I H, Teh Teehiat 3] | FfHa ATP 310p3ti i ot T & -
(A) 22 (B) 28 (C) 32 (D) 36
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26.

27.

28.

29.

30.

31.

32.

33.

Vernalization is done at

(A) Low light intensity (B)
(C) Lower temperature (D)
TSR0 Bl
(A) T wepret et ™ (B)
(C) T=Tag aMaH & (D)
Bolting may be induced by

) C tokmm (B) Auxin ©)
(A) qudlehlsl-ﬁ glu (B)
(C) Ufsufer Tftre g (D)
‘Banana’ is vegetatively propagated by
(A) Tubers (B) Rhlzome ©)
‘el ol STl Taea
(A) e g (B) TISGﬁﬂ?;W ©)

High light intensity
Higher temperature

3= TehIY dleldl I
3a9 dT9H 0

Abscisic acid (D) Gibberellin

AR gra

Seaifers g

Bulbs (D) Suckers

Sodl gRI (D) 3d-Ear g

The process of embryo formation without fertilisation is known as

A) Apospory (B) Apogam (©)
2 o S s < Wb e S

(A) TR (B) wariH (C)

Wind pollination is common in

(A) Orchids (B) Grasses ©)

TS IATO] | G

(A) sf¥ed  (B) T (@M H (O

Down’s syndrome is due to

(A) Linkage (B)

(C) Crossing over
EEZ %1 SR 8
(A) GgerHdl

(C) < fafam=

Haemophilia is a
(A) Deficiency disorder
(C) X-linked disorder

TS
(A) 3rqurar ferepfa
(C) X-wgerd fospfd

The first genetic material could be

(A) RNA (B) DNA
T S TeT & TehdT § :
(A) RNA (B) DNA

Code No. : C-510/2018/Series-A

(D)

(B)
(D)

(B)
(D)

Parthenocarpy (D) Polyembryony

Mt (D) uiferafEErh
Lilies (D) Legumes
fafrwd (D) =it H

Sex linked inheritance

Non-disjunction of chromosome
TR ST TR - forieH

Y-linked disorder
Autosomal sex disorder

(B) Y-&gctH

(D)
©
©

. i l.iiiél
srfermet fer ferepfa
(D) Carbohydrates

(D) HEEEgH

Protein

A



34.

3S.

36.

37.

38.

39.

40.

41.

42.

mRNA directs the building of proteins through a sequence of

(A) Exons (B) Introns (C) Codons (D) Anticodons
61 Tsh S@eAT g mRNA N i1 7 féem e 2 |
(A) THIH (B) ¥¢H (C) HieH (D) TA-HEH

Trans OSOI’IS are sequence of
QI(“‘II\TIIJ-H ferarehl A1l %?

(A) DNA (B) mRNA (C) tRNA (D) rRNA
Stanley Miller proposed origin of life by

(A) Chemical synthesis (B) Abiogenesis

(C) B10genes1s (D) None of these

T firer 7 fopwreh g Sfte-3eatx st Ufeare feram ?

(A) TETIH GIATT (B) STefiardeHa

(C) ShrarastH (D) =7 3 g TE

Which one of the following is linked to evolution ?
%‘t)’ Extinction (B) Competition (C) Variations (D) Reproduction
H | 1 AT oh A1 HgARd @ ?

(A) ToeE (B) fceagt (C) fi=an (D) I

Homologous organs indicate

(A) Convergent evolution (B) Parallel evolution
(C) Common descendant (D) Natural selection
FHSATT 377 S0 &

(A) IRET 3@ (B) SRR I (C) |MRI 3-REY (D) STehfceh =3

Mammals evolved from
%A:){ a%d% e (B% :Reptiles (C) Amphibians (D) None of these
(A) fosmia (B) &gl ¥ (C) SWIi® (D) 38 T HIS 781

‘YAC’ refers to

(A) Yeast artificial cell (B) Yeast artificial chromosome
(C) Yeast artificial colony (D) None of these

YAC & aeqd 2 -

(A) A anféfpfire o (B) i anfftsiemet sy

(C) A= anféfpfaaer srart (D) T A IS T8

The first human hormone produced by recombinant DNA technology is

(A) Insulin (B) Estrogen (C) Thyroxin (D) Progesterone
DNA Teh-ieh g1 ffifa aavem aeea 7

(A) 3= (B) 3EISH (C) YR (D) WSRA

‘Bt’ cotton is resistant to

(A) Insects (B) Herbicides (C) Salt (D) Draught

‘Bt U1

(A) <hrer] s ufd (B) MRS o Tfct (C) Taursh Ufd (D) @& o Ui
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43.

44,

45.

46.

47.

48.

49.

50.

51.

Which of the following is a partial root parasite ?
%n:’ Sandal wood (B) Mistletoe (C) Orobanche (D) Ganoderma

T I T T IS Wi & ?
(A) = (B) g (fomed) (C) 3t (D) et
Lichen is an example of
(A) Mutualism (B) Commensalism
(C) Predation (D) Competition

<TTSeh Ueh 3CTaL0] &
(A) TEUHIT 1 (B) FeWifar sl (C) wwferdisr (D) wfaeaset o

DGCOIIlpOSGI'S arc

(A) Autotrophs (B) Auto heterotrophs
C) Organotrophs (D) Heterotrophs
HUCE

(A) Tt (B) TEuRdTSt (C) arfipardt (D) fersmat

Energy flow in an ecosystem is
(A) Bidirectional (B) Umdlrectlonal (C) All around (D) None of these
ek grifeaferehl 9 1 SHell Y918 Bidl @ ¢

(A) fgefrs (B) Thic@  (C) @i @® (D) TTHHBE T

Which of the following is not an ex-situ conservation ?

(A) Cryopreservation (B) Seed bank
%ﬂ; Bios here reserves (D) Botanical garden
m@ ex-situ’ T A & ? ,
(A) ﬁtr?rrqtrﬁxw (B) YUl s
(C) Sagsa fod (D) aEdfeeh STfiE
Red Data books are produced by
) IUCN (]% WWF (C) IBWL (D) None of these

(A) IUCN‘;{ITI (B) WWF‘;{IT[ (C) IBWLEN (D) 38 & IS T&

A mutagenic pollutant is

(A) Organophosphates (B) Resins

©) Hydrocarbons (D) Nitrogen oxides

Teh IS HeHh

(A) ﬁﬁﬁ@@ﬁ?(B) R\EC] (C) TEghEE (D) ATSIISH TS

Photo chermcal smog is formed by
YR ST - ek THIT < fIHT01 AT R0 8

(A) NO, (B) SO, (C) CO, (D) CO
Book lungs are respiratory organs in

(A) Cockroach ~(B) Snail (C) Prawn (D) Scorpion
b o1 (T ®hg) Tohbeh vaat 38 ? '

(A) Taetagt (B) dren (C) i (D) foregy

Code No. : C-510/2018/Series-A 8



S52.

53.

54.

5S.

56.

57.

58.

59.

60.

Sea mouse belongs to which phylum ?
(A) Mollusca (B) Arthropoda (C) Annelida (D) None of these
TS <81 fohd 69 § HEld & 2

(A) Heehasl (B) Hfimrg (C) wifas (D) 375 9 I3 &

Torsion is the characteristics of

(A) Gastropoda (B) Pelecypoda (C) Cephalopoda (D) Amphinura
erforehar & 7

(A) TS (B) UoRWE  (C) ¥haMie (D) UERU
The animal which has oval RBCs is

(A) Dog (B) F1sh (C) Human (D) Camel
g TToft fEehl AT -t HIUTehT 3TUSTRT BT 2 -

(A) & (B) waelt (C) 7 (D) <
Earthworm has how many segments ?

e T fehd< @UE BId & 2

(A) 85-400  (B) 100-200 (C) 20-95 (D) 45120

The lining of intestine and kidneys in humans is
(A) Keratinized (B) Brush border (C) Ciliated (D) None of these

HSA! H 3T AT Febeh hl ATSHT &Il &
(A) whifeHa (B) oIS (C) uewTH (D) 3T | g &l
In Molluses, eye is present on a stalk, called

(A) Ommatophore(B) Osphradium (C) Operculum (D) Ostradium
, 99 Tsh S T ITE 2d 7, e & -

(A) SN (B) A&hfezm  (C) Awage™ (D) 3i&fem
What is number of spinal nerves in frog ?

(A) 8 pairs (B) 10 pairs C) 11 pairs (D) 12 pairs
Heeh | afAhI-aqatl ohl T feha sld“l% )

(A) 8IS (B) 108 (©) 113 (D) 12713

In humans, peptic cells secrete

(A) HCI (B) Cholecystokinin

©) Gastrm (D) None of these

o1 |, Ufeeeh hIfTehT |19 ! &

(A) E@H@ﬁ%qﬁq‘é (B) HIIERIehgiH

(C) ez (D) $H & HiE &

Secretion of pancreatic juice in humans is stimulated by

(A) Enterokinase (B) Enterogastron (C) Gastrin (D) None of these
1 "dul

(A) TUHES g (B) TRUTRH g (C) Mg (D) 3798 9 is &l
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61.

62.

63.

64.

65.

66.

67.

68.

69.

In humans, respiration is controlled by

(A) Hypothalamus (B) Cerebellum

(C) _Medula oblongata (D) Cerebrum

A1 | vaed Heta g g

(A) FEIEAE gTT (B) HW&em g

©) chfuauecfn'ud ALY (D) TS g/

During hibernation, frog respires through

(A) Gills (B) Lun (C) Integument (D) Tympanum
' Tigeh G ol

(A) feeeftgmm (B) ﬁm@‘g{m (C) AL W (D) HUUeE gRI

Pulmonary vein in humans carries

(A) Deoxygenated blood (B) Oxygenated blood
% hé[lxed bl%){_i[ i3 (D) None of these
Ne sl T
(A) TR-3TfeeTia (B) 3ifagstfd Tor
(C) Tz (D) 378 U I3 &

The vitamin which is essential for blood clotting is

(A) Vitamin A (B) Vitamin B (C) Vitamin C (D) None of these
& STHTE o Tl 3TTE9ah .

(A) fefm-t  B) fwfm-sfi () fowafim-#t (D) 0 @ %5 7=
Average pH of human Urine is

e gt 3fiEd pH 2

(A) 6.0 B) 7.0 (©) 8.0 (D) 9.0

Human kidney is

(A) Metanephric (B) Mesonephric (C) Protonephric (D) Archinephric

AT Jh
(A) TeHfhR® (B) fimmfbs  (C) WeRfhss (D) fehihen

Lower jaw of man is formed of
(A) Onebone (B) Twobones (C) Three bones (D) None of these
&Y 1 Al See o1 BIT &

(A) T SRIF (B) @ sRmiE (C) 9 sRmiHI(D) i & B

Number of cervical vertebral in mammals are

T § IfieT shereeh! shl AT fehd-1t Bidl & 7

(A) 7 B) 8 (C) 6 (D) 12
Adaptation of colour vision is found in

(A) Mammals (B) Aves (C) Reptiles (D) All of these
T gfS T TeheT T ST B

(A) TR g (B) ﬁ@ﬁﬁ (C) wgaiH (D) ST H

Code No. : C-510/2018/Series-A 10



70.

71.

72.

73.

74.

75.

76.

77.

In human brain, corpus callosum connects

(A) Two optic lobes (B) Bone and muscle

©) Two cerebral hemlspheres (D) Two lobes of pituitary gland
O o TGS H HI9d et Sl

(A) I3 uIfed &l (B) 3rfey den &y .

(C) < afETSh TeAtt ! (D) Torgw mifer <6t g1 wnferart &6

Which is not a symptom of hypothyroiditis ?

(A) Lethargy (B) Mental retardation

(C) Oedema (D) Rise in blood urea

g FAC[sh3Ad] b1 AT & ,

(A) gt (B) AMfYs Hear (C) % (D) T H I <l afg
Which hormone controls blood calcium level ?

(é) Gluc\ﬁagon B) Insulin ~ (C) Parathormone (D) None of these

I G A T —oh{cHaH & AT R ? 0
(A) HME (B) sHfeM (C) Wgmi (D) 3 4 IS T

In malaria, the product released by mosquitoes into blood that causes chill and
fever is called
(A) Haematin (B) Schuffner’s dots
(©) Haemazom 2& ) Haematoxin
H, Aesl g W H BIST T 9erd, TEd 308 37 §@R 8T &, Shedldl & :

(A) frif (B) YHREE (C) feasrs (D) fengifaem

Hybrid vigour is induced by

(A) Clonal selection (B) Crossing of plant

©) Qro§§ing of two plants (D) Species differentiation
Goht ST 5—& H

(A) FAH = (B) drey fafmx

(C) I UTeUl Shl EehTUT (D) STt ferdied
Rhizobium is an example of

(A) Biofertilizer (B) Biopesticide

(C) Symblotlc fungus (D) None of these

e eaH fordehT 3e8 @ ?

(A) Sa-3dwh  (B) SE-dleAnil (C) wesfidl ®he (D) 370 & SIS T8

What is the mole fract1on of the solute i inal .0 m aqueous solution ?
1.0 m Siciia forerm @ T <6 diet w9t fepden g 2

(A) 1.77 (B) 0.0354 (C) 0.0177 (D) 0.177
A p-orbital can accommodate upto
(A) four electrons (B) six electrons

(C) two electrons with parallel spins (D) two electrons with opposite spins
Ueh p-chadeh H‘-Ilélllvld h{ Hehdl

(A) IRFARE (B) ®: 3ol
(C) T IR FHTR fo o |1y (D) < S foreg fom & @iy
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78. The first element of the rare earth metals is
(A) Lanthanum (B) Uranium (C) Actintum (D) Cerium
4T 1 IUH T &

(A) w&m (B) I (C) ufaefm (D) afEw

79. Which molecule has linear structure ?

fopm 37u] Y wee Yl Bt B 2
(A) CO, (B) NO, (©) SO, (D) SiO,
80. Surface tension of a liquid does not depend on
(A) temperature (B) intermolecular forces
C) surface area (D) solute dissolved in liquid
% 1 I8 1 ¥ T8 htdl &

(A) TEATR  (B) FaU-3& & (C) I8 &a%ad (D) 3a H gfera foem

81. Which of the following unit cells is the most unsymmetrical ?
A) Hexagonal gB) Monochmc (C) Orthorhombic (D) Triclinic
(= T 4 9 T TS hITTRIT T Bl g ?

(A) S (B) UehdTad (C) de=aqdst (D) Prane

82. The total entropy change of a system and surroundings is positive for

(A) 1sochoric process (B) isobaric process
C) irreversible process (D) revers1ble process
%WWWW T 6t el Uit IR eHTcHe BT 8 ?
(A) FHSRIH EI'F%"EIT (B) THcreE gishan
(C) STIcshHYTT fsham (D) 3cshuuit Tfsha
83. }\Vhiqh of; the fol\l(o\w1 s least likely to act as Lewis acid ?
= 1 9 fergeh] cfuowu%?»ﬁ?ﬂ‘a’ T T I FYTEAT A B 2
(A) PF; (B) CO (C) BF, (D) F~
84. The oxidation number of Fe in Fe(CO); 1s
(A) 4 (B) 2 (©) 10 (D) None of these
Fe(CO); H Fe 3 Affaaehies & ’
(A) 4 B) 2 ©) 10 (D) ST € %13 &l
85. Hardness of water is due to which of the following pair of ions ?
(A) Ca?"and K* (B) Mg2* and K*
(C) Ca?"and Mg?* . (D) Ba?and Zn**
= o fop® 3TTI-SII o RUT STA § sha T Bldl & ?
(A) Ca?™qurK*t (B) Mg?™qum K+
(C) Ca?*dqur Mg2+ (D) Ba2" qT Zn2"
86. Which is maximum reactive towards water ?
HIF T & Ffd Tgaw framefiet giar 2 2
(A) Li (B) K (C) Na (D) Rb
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87.

88.

89.

90.

91.

92.

93.

The ability of a substance to exist in two or more crystalline forms is known as
(A) Isomerism (B) Polyisomorphism

(C) Isomorphism (D) Amorphism

Toreft uerel 1 g1 31era 3feres fortectt Tl § 31feaca St ewar saard &

(A) @HEEEdl (B) SgoHIR(de  (C) §HBK® (D) 3Afsheeel

Basicity of ortho phosphoric acid is

HAT-BIEpITeh TFHS i & &

(A) 2 (B) 3 € 4 (D) 5
The IUPAC name of CH;CHO is

(A) Acetaldehyde (B) Methylaldehyde

(C) Formyl chloride (D) Ethanal

CH;CHO T [UPAC 919 &

(A) THereEgTEs (B) AfeiefeesTes

(C) wifteT FANTSS (D) THTA

The methyl group in benzene ring is

(A) ortho directing (B) para directing

(C) ortho and meta directing (D) ortho and para directing
ST erer o Aot T BT 8

(A) e eferes (B) el

(C) 3N e Her efvres (D) 3Nt aur i efren
Which of the following is not a common component of photochemical smog ?
(A) Ozone (B) Acrolein

(C) Peroxyacetyl nitrate (D) Chlorofluorocarbons
11 5 9 S |1 TR TE e TR 1 Teh 9<h 8l @ ?

(A) 3T (B) ThITE

(C) WfiufEersa ArEee (D) FARITFLUhIE

Dry ice is

(A) waterat0°C (B) Solid Nitrogen

(C) Solid NH; (D) Solid CO,

ok T E

(A) 0°CRSE (B) sMAsgsH (C) 3@ NH; (D) 3™ CO,

5.85 g of NaCl is dissolved in water and the solution is made upto 0.5 litre. The
molarity of solution is

5.85 g NaC/ St § Hietl S g a1 0.5 foteX aeh foaeram saman siran 2 | foaerem i
Herar fepel 2 ?
(A) 1M (B) 2 M (€) 0.1M (D) 02 M
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9.

9s.

96.

97.

98.

99.

100.

101.

Which of the following colloids cannot be coagulated easily ?

(A) Lycophobic colloids (B) Irreversible colloids
&C) Rever51ble 001101ds (D) None of these
Er=REcaE Ry °hIQ'II$S ST ¥ Thied Tl gidn 2

(A) ARG HIATZS (B) 3T{csHHU(IT hIcligeS
(C) 3cohHvliT HIcA(sS (D) T4 T HIE T

Which of the following is not an ore of magnesium ?
%r:)’ Carnallite (B) Dolomite (C) Calamine (D) Sea water
I o1 SR T 3RS T8 & 2

(A) FHiCEE  (B) SiaMEe  (C) SheidTsd (D) HHS ST

Which of the following phosphorus is the most stable ?

(A) Red (B) White

(©€) Black (D) All are equally stable

(ST | | hI T Ik Tl TTE 8 ?

(A) @ (B) ¥hg .

(C) e (D) Tft U €9 H TR E |

Colour of light absorbed by aqueous solution of CuSO, is

(A) orangered (B) bluish green (C) yellow (D) violet

CuSO, % el fererad g EEINCORUES '

(A) TRfie (B) fiaEn (C) dem (D) st

Which of the following is anionic ligand ?

%‘t’ NH; (B) CO ©) F~ (D) ethylene diamine
T g i 91 T3S formg g 2

(A) NH, (B) CO (C) F~ (D) sefifers sreufim

Allyl chloride on dehydrochlorination gives
(A) Rrogad\iene (B) propylene (C) allyl alcohol (D) acetone
SRESFANHYN W UfeTdd FARES

(A) TSI (B) Widifem (C) Tfetat Teshlitet (D) e

The major product of interaction of phenol with sodium hydroxide and carbon
dioxide is

(A) benzoic acid (B) salicylaldehyde
C) salicylic acid (D) phthalic acid
f(%——ﬁﬂ EIESIEISS T he SISSATHITES h H1el A~ {oha h1 Y@ I & :
(A) S Tfire (B) afetorgetfcesgs
(C) aferarafers the (D) wfeTes wfde
Oxygen atom in ether is
%‘2’2 very active  (B) replaceable (C) active (D) comparatively inert
1 AT &

(A) Ifdabrr  (B) vfaeaadfim (C) afwa (D) qeTcHh ATha

Code No. : C-510/2018/Series-A 14



102.

103.

104.

10S.

106.

107.

108.

109.

Which of the following undergoes nitration reaction most readily ?
&A) Benzene (B) Benzoic ac1d (C) Benzonitrile (D) Benzaldehyde
ST T T b 3TcIeres HgsTal & T8¢ Tfdfshan it & 2

(A) SR\ (B) SIEH TS (C) SOMBRA (D) SWfceass
Which of the following cannot reduce Fehling solution ?

&A) F ormlc a01d (B) Acetic acid (C) Formaldehyde (D) Acetaldehyde
(= § 9 19 ba et foretad 1 319=== =1&] shtar ?

(A) ®it® THE (B) THIRRH e (C) winifcesse (D) THRIcease
Acid anhydrides on reaction with primary amines give

(A) amide (B) imide

©) secondary amine (D) imine

wfies Ut o T wfafshan i W e TeTsgeed < 8
(A) TS (B) H1ES (C) fefapafm (D) AT
Which of the following is classified as a condensation polymer ?

&A) Dacron ~ (B) Neoprene  (C) Teflon (D) Acrylonitrile
(91 § & S |1 He GieTo o &9 H liehd g ?

(A) <HH (B) Tl (C) wIH ) RUETSEIHES
What is teaching through deductive method ?

(A) From general to speciﬁc (B) From specific to general
C) From macro to micro (D) From easy to difficult
ferTeeTeres farfer g s frman Siman 2 2

(A) T § fafirs 6 @@ (B) fafdre @ g it &

(C) & ¥ o1y 6l T (D) WA Y hicd i

Theory of representative knowledge was accepted by

(A) Yoga (B) Samkhya

(C) Advaita Vedanta (D) All of these

gfaffere I g o1 e T 8 0

(A) I g (B) A g (C) 37gd 9crd g1 (D) I8 |t

Which of the following is not the cordial principle of educational philosophy
of Tagore ?

(A) Freedom (B) Creative self—expression

%n:’ Self-realisation (D) Active communion
ﬁﬁﬁqm%ﬁt%ﬁfwwwﬁ?@ﬁmﬁ% ?

(A) T (B) Hifete w-

(C) w-3Irgfd (D) Hfsha eI

The school socialised the child by providing social control through :

(A) social values (B) regulation (C) rules (D) All of these

‘g{mmﬂmﬁaamwmw Shich Thel STcTeh Shl ATHTISI SHTAT & |
(A) g gt (B) o= (C) Frmi (D) Ig aft
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110. Which Article of the Constitution prohibits traffic in human beings and forced
labour ?

(A) Article 19 (B) Article2] (C) Article23 (D) Article 28
YL AT 1 hiH AT TTo6 A b1 SATIR AT SeITd 571 1 Y i & ?

(A) =819 (B) 3 =we2]l (C) 3g=8q23 (D) IT=9e 28

111. SI Model of Intelligence was given by
(A) Freeman (B) Alfred Binet (C) J.P. Guilford (D) Thorndike

gfgas &1 SI Hiew fea i o -
(A) HETS (B) Tekhs @  (C) .. frewg 3 (D) Ui

112. Motivation results in

(A) goal directed behaviour (B) undirected behaviour

(C) excited behaviour (D) problem solving behaviour
ST RO B & -

(A) e T sEr 3 (B) femfer =eer &

(C) 3afva =reEr o (D) Tue faner agr ¥

113. The National Institute for Orthographically Handicapped is located at
(A) Kolkata (B) Dehradun  (C) Hyderabad (D) Mumbai
Tl e (STTIIThehel! GEihe) TP HEAT el STATEd @ ?
(A) ®IFHET (B) <@ (C) &eUETg (D) 73
114. Which of the following is not a personality trait ?

(A) Intelligence (B) Interest (C) Emotionality (D) Honesty
e o 1 o Afaac formives T8 & 2

(A) Ffgmar  (B) = (C) wrgwar (D) ST
115. Who is the best motivator at school ?

(A) The class teacher (B) The Headmaster

(C) The subject teacher (D) The class fellows

e 1 5 i F 2 0

(A) sifyess (B) yammEms  (C) fowafyess (D) af-urdh
116. The consistency of evaluation results is measured by

(A) reliability  (B) objectivity (C) predictability (D) usability

HeTeh TIUTHI hi FaddT AT91 ST & -

(A) Terzereter gra (B) 3£wAT gM

(C) wersgerft gra (D) IWAATET g
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117. Who recommended a ‘National System of Education’ ?
(A) National Policy on Education, 1986
(B) IGNOU
(C) National Council for Teacher Education
(D) Kothari Commission

“Tarequr Bt TE STTEdl” Shi STTHSM fohe <l 2

(A) Taren st wg Hifd, 1986 (B) 1
(C) Tneres faren U uftwe (D) IS U (3T=T)
118. The main aim of teaching is
(A) to develop only reasoning (B) to develop only thinking
(C) both (A) and (B) (D) to give information
AT T &
(A) Wﬁ%wﬁw (B) whact feram =1 ferepm
(C) (A)TdT (B) gl (D) SR T
119. Which domain focusses on feelings, attitudes and values ?
(A) Cognitive domain (B) Psychomotor domain

(C) Affective domain D) None of these

SHIF G THIGES THIATE, ST T a7 Je T ohigd & ? .

(A) FHETHS (B) mI-¢fed  (C) wETH® (D) 3 ¥ g &l
120. Who was the chairman of Indian Education Commission ?

(A) Michael Sadler (B) William Hunter

(C) Lord Ripon (D) Lord Dalhousie

Tarear arma %61 @i (Chairman) S 7 2
(A) TEHd ger (B) fafermwzex  (€) «re fom (D) TS SRS

121. Educational technology includes

(A) Hardware approach (B) Software approach
C) Both (A) and (B) (D) None of these
W%V&TUT Tehr1h % RTEI%%‘W H §
(A) BTEeT T (B) HHesRR i
(C) (A) T (B) Tl (D) T4 | HIg &
122. The element of teaching model is
(A) syntax (B) focus (C) social system (D) All of these
YA WIS 1 T &

(A) ST fa=mE  (B) TehgUl (BhE) (C) HTHISTeh e (D) I8 Teft
123. According to Freud, super ego is properly developed during

(A) latency period (B) anal period
(C) phallic period (D) None of these
»blqs%; ?rlj{'ll{ T 39 I 3tk & foehféa grar &

(A) gl e (B) Tl AT
(C) ifiTeh e (D) 78 ¥ IS T

17 Code No. : C-510/2018/Series-A



124.

125.

126.

127.

128.

129.

130.

131.

Taxonomy of teacher behaviour is developed by

(A) workshop (B) refresher course

g) simulated trammg (D) micro-teaching
&1eh SIIR ool forehf¥ra grar 2

(A) TH-39 gRI (B) TORIR 1€ g/

(C) ITTEIYT e g (D) H&H-JATH g

Programmed learning is based on the principles of
(A) Conditioned Learning Theory (B) Cognitive Learning Theory

C) Gestalt Learning Theory (D) Operant Conditioning
Ffer ferdeh forgial o T & 2
(A) ITeRicTa e e (B) IHTcHeh AT 2w
(C) TreTee At et (D) Gsha 3Tehe 2
Which was the principal item of food of the people in Indus valley ?
A) Wheat (B) Barley (C) Rice (D) None of these
e T % i 35 i o e o 2 |
(A) T (B) it (C) == (D) S & % T

The Magadhan empire came into prominence under

A) Bindusara  (B) Ajatashatru (C) Bimbisara (D) Mahakashap
TTE T HTE SIS el H 371 ? .

(A) fagar (B) IRy (C) Teife@R (D) HETeh&d

Who among the following was not a famous Buddhist scholar of the Gupta

period ?

&A) Asanga (B) Vasubandhu (©) Dlgnaga (D) Siddhasena

o1 5 @ = T et | WiHg sig fogm el 9

(A) 3FET (B) agEy (©) %mrm (D) fogea

Who was the greatest of the Chalukya rulers ?
(A) Pulakeshm I (B) Pulakeshm I (C) Kirtivarman (D) None of these
T SMEhT § T HEM i AT 2

(A) bl 5o (B) Joref fodian(C) ifdemia (D) w7 &+ 7l
Brihatkatha-kosh is written by

(A) Kalhana (B) Harlsena (C) Banabhatta (D) Bhaskara-Il
®|Sd°h€ﬂ °|'>|‘\’| |°|'>H°|’) gl IQ'REII T AT Y

(A) Hegw (B) Bi&H (C) wTuTvg (D) TR Tt
The title of ‘Sikandar-i-Sani’ was adopted by

(A) Jalaluddin Khalji (B) Alauddin Khalji

(C) Firzo Shah Tu(ghlaq (D) Muhammad-bin-Tughlaq
Taehet-t- jEIFI"[ 1 1T ferereh gRT €IROT TehaT TT31T T ?

(A) SATAEH Eetsil (B) FAREH Getall

(C) U w1TE et (D) gerg-fea-ger
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132.

133.

134.

135.

136.

137.

138.

Which battle did not take place in the reign of Babur ?

(A) First battle of Panipat (B) Second battle of Panipat
(C) Battle of Khanua (D) Battle of Ghaghra

STER o ITEE H S 91 Ig (TTSTE) T2 g3 8 2

(A) UTa i ToH TS (B) dHIa i fgeia @iers
(C) @M =1 Ig (D) ==t g

The British General who defeated Tantia Tope and Rani Jhansi in Central India was
(A) HughRose (B) Havelock (C) Campbell (D) W.N.Russel
HET YA H AT 219 G SOt <hl T ohl &0 areTt TordieT St ot

(A) FUS (B) @9 (C) HHad (D) S, TH. T

The most earthquake prone area in India is

(A) Kashmir valley (B) Himalayan region and its foothills
(C) Coromandel Coast region (D) All of these

YR Sh1 HelTTereh ehd Je0 &1 3 :

(A) HIUR =T (B) feuTer™ &= qe 3Teh detandt

(C) HRMUSH Al &= (D) TE @

Tornadoes which form at sea are called

(A) Water spouts (B) Squalls

(C) Thunderstorms (D) All of these

g W & aTet TRAST (S98T) %l Had @ -

(A) Sereaw (B) qT®H (C) dfsd-zzm (D) Jg @+

Caribbean oceanic current belongs to
(A) Indian ocean (B) Atlantic ocean (C) Pacific ocean (D) Arctic ocean

e - Fefe @ -

(A) Teég ARETR (B) Tzl HETETR
(C) T=Id HETETR (D) 3Tehiceh HEHTR
The ‘Juma’ tribe is found in

(A) Amazon Basin (B) Congo basin
(C) China (D) Kenya

T YA UTE ATt B

(A) WA ACHEHA (B) ®iMAcHE (C) <= d (D) = d

Grasslands in Brazil are known as
(A) Campos (B) Pampas (C) Steppes (D) None of these
(A) HHS (B) YmH (C) =diw (D) T8 ¥ i3 A&l
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139.

140.

141.

142.

143.

144.

145.

146.

Gulf of Mannar is famous for

(A) Tf;}l?s[hing (B) prawn fishing (C) pearl fishing (D) None of these
H~T1 nl QTS|

(A) nﬂwﬁqmﬁéﬂ%m (B) i wehed o feru

(C) It 98 % & forw (D) 3T O 1 T&l

Which of the following forms the north eastern edge of the Chhotanagpur
Plateau ?

(A) Parasnath Hills (B) Rajmahal Hills
(C) Mikir Hills (D) Javadi Hills
BIT-ATTYL TSR 3hl ITR-el B 3hT w0 et 2 - .
(A) IRETY vETiet (B) TSHew TgTTSal
(C) Trfert warfet (D) St wefeat
In which of the following districts of Maharashtra does Godavari river rise ?
%n:)’ Ahmedn ar (B) Nasik (©) Ratnaglrl (D) Latur
IETAE R RIHCHE R

(A) aaswn (B) i¥en (C) wﬁﬁt (D) T

Which of the following cities in India has a modest temperature throughout the
year ?

A) Patna %];3) Dehradun (C) Bengaluru (D) Allahabad
H ¥ YA o fohd et H ) 9 Hford qTad T&al & ?

(A) " (B) <@led (C) wTTa® (D) 3TETETG

Which of the following canals is not a perennial canal ?

(A) Sir Hind canal (B) Bhakra canal

(C) Bikaner canal (D) None of these

(e O O i Tt Tat SEnTEt e 8 2 ’
(A) TrfégTer (B) wmuagt  (C) fesmast (D) ¥ 9 I8 &1
The Diesel Locomotive Engines are manufactured at

(A) Varan51 (B) Perambur (C) Chittaranjan (D) Jameshdpur
25 Al MITed soiq ffia

(A) IRV E  (B) W H (C) " d (D) oRIgR |

Which of the following is not a cotton textile centre ?

(A) Modmagar (B) Kanpur (C) Kota (D) None of these
(7 § § 9 I shicd coHersd Hel (shg) T8l & 2 ’

(A) AIGFR (B) B (C) rer (D) ¥ & % T
Which mirror is used as a shaving mirror ?

(A) Plane mirror (B) Convex mirror

(C) Concave mirror (D) None of these

14 |1 UV 1T S | TR BT © 2 ’

(A) Fwad (B) 3T« (C) 3feaa (D) 38 | 13 &l
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147.

148.

149.

150.

151.

152.

Which of the following schedules of the Constitution of India contains
provisions regarding anti-defection ?

(A) Fifth schedule (B) Seventh schedule

(C) Ninth schedule (D) Tenth schedule

WA |IT9™ < fohdl ST H ¢ ¢ ToiY o1 STa9™ & 2

(A) uredt (B) Hradi (C) e (D) gua

The Enforcement of Directive Principles of State Policy depends mostly on
(A) the courts

(B) an effective opposition in parliament

(C) resources available to the Government

(D) Public cooperation

T o Hifa-frceres fagra o] e 1 forg R w2 7

(A) =T (B) @@E T yurenfier faget

(C) @R ! TTed HHTEH (D) SH-EHTT

Who of the following was a member of Rajya Sabha at the time of appointment
as Prime Minister ?

(A) Charan Singh (B) Indira Gandhi

(C) Lal Bahadur Shashtri (D) P.V.Narsimha Rao
g 1 o R R Y EH o 99T I TsI-T91 1 988 ot o1 2
(A) = fag (B) sf=a miedt

(C) Tl SI8TgL eIt (D) .. v va

The Governor is appointed by the

(A) Prime Minister (B) President

(C) Chief Minister (D) Chief Justice of India
TsdTe shi fergferd et @ -

(A) va= o= gr (B) Tmufd gr

(C) H&A Wl g (D) WRE % Td =R g

If a Panchayat is dissolved, elections are to be held within
(A) 1 month (B) 3 months (C) 6 months (D) 1 year

Ife vamd faafsa g At 8, a1 g9 % Hiqt g =fex |
(A) 1@ (B) 3@ (C) 67 (D) 13
Which five year plan is also called ‘Gadgil Yojana’ ?

(A) Third Five Year Plan (B) Fourth Five Year Plan
(C) Fifth Five Year Plan (D) None of these

I Ht gereria Qe el Aier o shEerd & 2

(A) T deaTe AT (B) TqY deeeia AT

(C) el Jerardta s (D) 14 ¥ 15 T&l
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153.

154.

155.

156.

157.

158.

159.

Which of the following includes bulk imports of the country ?

(A) Petroleum (B) Electrical Goods
(C) Non-electrical Machinery (D) Precious Stones
<gTd (M) | ek 3T | :

(A) Ugrd (B) Ioiadiohed HHM
(C) -ForFdIhe el (D) <t TR

In India inflation is measured by the

(A) CPI

(B) National Income Deflation

(C) Consumer Price Index for urban non-manual workers

(D) None of these

YT H Hgredhife ATt et 8

(A) CPIgia

(B) TEHE 3 Juehifd gr . .

(C) &l TR-HfHeh MR o TeTT TN Yo I YTARIh

(D) T 8 I &

If ASHA e%gals 79, then VINAY BUSHAN = ?

If¢ ASHA % SRR 79, @1 VINAY BUSHAN = ?

(A) 150 (B) 160 (C) 170 (D) 180
In a certain code, ‘STOVE’ is written as ‘FNBLK’ then how will ‘VOTES’ be
written in the same code ?

fopeft ffesrd e w1 d, ‘STOVE’ 1 ‘FNBLK’ fefian e =, 1 36t e # ‘VOTES’
|°|')H Henl IC'IL'EII ST ?
(A) FLKBN  (B) LBNKF  (C) LKNBF (D) LNBKF

Minghal Fair is celebrated in which districts of Himachal Pradesh ?

(A) Chamba (B) Sirmaur (C) Mandi (D) Kullu

TeaTare wew o fopd et o fireret wett v Siar & 2

(A) == (B) f&R (C) wugl (D) Seel,

Demon (Rakshasa) dance 1s performed in which districts of Himachal Pradesh ?
(A) Lahaul & Spiti (B) Kinnaur

(C) Shimla (D) Una

Temmara wew o Tor 1ol o e o Tk ST @ 2
(A) @RE-Tfifa (B) fh=iR (C) Tarmem (D) S

Mahamaya Bala Sundri temple is located in which districts of Himachal
Pradesh ?

(A) Kullu (B) Kangra (C) Solan (D) Sirmaur
HETHTE Sefl et A femreret wgw o b et  feera @ 7
(A) Pl (B) ST (C) g (D) fawr
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160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

‘Taragarh Palace’ is located in which districts of Himachal Pradesh ?
(A) Kangra QB) Bilaspur (C) Hamirpur (D) Mandi
. ERCTAT R AR R e R ?
(A) IS (B) feremag (C) &HRE (D) AUt
Govindan Lakshmanan is associated with which sports ?
A) Sprint (B) Basketball (C) Badminton (D) Hockey
AEAUH foh W | HafYd & 2
(A) TS (B) Sehedial  (C) sefqued (D) Brehl

Section 377 of the Indian Penal Code, which has been recently decriminalised
came into force in which year ?

YA € Tl st shem-377 Fr& g1t €1 1 1eg foperm B, e @] ot 78 off 2

(A) 1861 (B) 1872 (C) 1881 (D) 1892

Which of the following movies has became the first Bollywood film ever to
release in Saudi Arabia ?

(A) Pad Man (B) Raazi _ (C) Parmanu (D) Gold
7= © § 9 it fthed A1l 31 1 i g arelt wuw Siciigs fhed s+t 2
(A) Y™ (B) Tl (C) W1 (D) e

Who has been voted the most influential women in history as per the recent
Readers of BBC History Magazine Poll ?

(A) Florence Nightingale (B) Marie Curie

(C) Mother Teresa . (D.«2 Marilyn Monroe

BBC &I T dict < araehi < SAIR fohdl sfagma shi wed gumasiial &t o fore
I FT R ?

(A) TAREAEETA (B) w0 wdl (C) TeT 3 (D) aftfem w0

She takes pride her beauty.

(A) of (B) in (C) about (D) for

Antonym of the word ‘Ardent’ is

(A) eager (B) dispassionate (C) fierce (D) None of these
Meaning of the idiom ‘To Weather the storm’ is

(A) to face a crisis (B) to survive a crisis

(C) to be the victim of a crisis (D) to create crisis

G B @1 H DR &

(A) (B) %1 (C) WA (D) dl

W+ =

(A) <=5 (B) &&= (C) &= (D) <fers

S0 Ho-H e § —

(A) H= (B) femran (C) == (D) @l
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